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class Table {

int cursor;
int N;
Object [| array;

Table (){
this.cursor = 0;
this N = 1;

this.array = new Object[this .N]J;

Object get(int 1){
if (i<this.cursor) return this.array[i];
else throw new IndexOutOfBoundsException ();

void set (int i, Object o){
if (i<this.cursor) this.array|[i] = o;

void clear (){

this.cursor = 0;

this .N = 1;

this.array = new Object[this .N]J;

void add(Object 0){

if (this.cursor=—this .N){
this .N = this.extendTo(this.N);
Object [] a = new Object [this .N];
for (int i=0;i<this.cursor;i++){

al[i] = this.array[i];
}
this.array = a;
}
this.array|[this.cursor] = o;

this.cursor++;

abstract int extendTo(int i);



